Balcony Support Installation Manual

1. Installation tools

‘7

| -"1
L d |

Product specification

[]

1 [

/lusta

260mm 275mm 300mm 38mm
Al 6005-T5 Al 6005-T5 Al 6005-T5 SUS304
| AIMgSi0.5 AIMgSi0.5 AIMgsi0.5 1.4301
Allen wrench Tape Wood Hammer Electric Screw Machine
(M8-M12)
Twist Wrench 5‘_ 13mm Spanner ,ﬂ‘
(M8-M12)
35mm 35mm 40mm
Al 6005-T5 Al 6005-T5 Al 6005-T5
Note: For quick installation, prepare above tools are recommended. &EPDM AlMgSi0.5
2. Bracket accessories > = =B =
30mm 220mm M8*20 M8*25
Al 6005-T5 Al 6005-T5 SUS304 SUS304
AIMgsSi0.5 AIMgSi0.5 1.4301 1.4301
i=—=|5] i=—=—=i] [i=—i]
M8*55 M8*60 M8*90
SUS304 SUS304 SUS304
1.4301 1.4301 1.4301

3. Application scenarios

Fixed on balcony with adjustable
tilt between 15°-30°

Fixed on balcony with 0°

4. Installation steps

1) Balcony hook installation: Hooks are attached via and holes in the panel
frame

R ,
'
'

M8 x90 !

ict
/lusta
2) The hook and railing connection: The hook hangs on the balcony railing,
through the bolt to prevent it from falling out

3) Rail installation: The bolt head snaps into the groove of the rail, the
aluminum plate is on the other side of the railing, and the bolt is locked as
shown in the picture

|

4) Installation of telescopic rod: The telescopic rod is pre-installed at the
factory, and the base is also locked on the rail with M8 bolts

M8 x 60

'
'
------ \

.uQUinl| ! 4~i\.

e’ _

oY ]

\
r

5) L foot installation and connection: The L foot is locked on the other side of
the panel frame with bolts, and then connected with the telescopic rod with
bolts

M8 x20

'
'
""" T

5. Balcony hook without angle solution

1) The hooks and rails are attached to the railing in the same way as the
angled ones, removing the adjustable feet and L connectors. Press the panel
directly on the guide rail with end clamps, as shown in the picture below. The
M8 bolt head is snapped into the slot, and the nut is locked

6) According to the required angle, adjust the position of the telescopic rod
and then lock the bolt, and the installation is completed

6. Inverter installation

— — ___ﬁ_____

i

Attaching the inverter to the railing using stainless steel ties

/lusta

www.austasolar.net
marketing@osdasol.com
NINGBO AUSTA SOLAR TECH CO, LTD



Installationsanleitung fiir Balkonstiitzen /lusta /usta

2) Die Haken- und Gelanderverbindung: Der Haken hangt durch den Bolzen
am Balkongelander, um ein Herausfallen zu verhindern

Produktspezifikation

1. Installationswerkzeuge 3. Anwendungsszenarien

Befestigt auf dem Balkon mit Befestigung auf Balkon mit 0°
‘7 verstellbaren Neigung zwischen
. = 15°-30°
| -
L 260mm 275mm 300mm 38mm
- \ Al 6005-T5 Al 6005-T5 AI6005-T5 SUS304

|
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
1
AIMgSi0.5 AIMgSi0.5 AIMgSi0.5 1.4301 |
Inbusschliissel Band Holzhammer Elektrische Schraubenmaschine :
(M8-M12) i
I
=T~ |
= ,ﬂ’n‘ | 3) Schienenverlegung: Der Schraubenkopf rastet in die Nut der Schiene ein,
e #_ 13mm Schraubenschliissel 1 die Aluminiumplatte befindet sich auf der anderen Seite des Gelinders, und
o o - 3 der Riegel ist wie auf dem Bild gezeigt verriegelt
Al 6005-T5 Al6005-T5 Al'6005-T5 | \
Anmerkung: & EPDM AIMgSi0.5 I !
Fiir eine schnelle Installation werden die oben genannten Werkzeuge empfohlen. 4. Installationsschritte
I
(!
I
! 1) Balkonhakenmontage: Haken werden iiber und Locher im Paneelrahmen gl
2. Zubehér fiir Halterungen | befestigt il
: S . l4
. . i  M8x90 | ) ) ) -
30mm 220mm M8*20 M8*25 | [ ' 4) Installation der Teleskopstange: Die Teleskopstange ist werkseitig
'
Al 6005-T5 Al 6005-T5 SUS304 SUS304 | ' vorinstalliert, und die Basis wird ebenfalls mit M8-Schrauben auf der Schiene
AIMgSi0.5 AIMgSi0.5 1.4301 1.4301 I ! arretiert Foo o s \ oo \
| ; M8x25] M8 x 60}
I I
' " \
| ' \ W L "
I . ! he | ' | = | 3
M8*55 M8*60 M8*90 | e fo D L B TR, 1 1 ||| £
| ] / i by B g
| f X i
SUS304 SUS304 SUS304 I s 5 X |
1.4301 1.4301 1.4301 ! s LN
1 ! 2
ict /I ict
/lusta lusta
5) Installation und Anschluss des L-FulRes: Der L-Fu® wird auf der anderen B Balkonhaken ohne Winkellﬁsung 8, Installation des Wechselrichters
Seite des Paneelrahmens mit Schrauben arretiert und dann mit Schrauben i ]
“[‘if EIe_r_T_eleskopstan%e_v_e_rb_u_nden 1) Die Haken und Schienen werden auf die gleiche Weise wie die abgewinkelt. — " = .
; ' ; ' . . . - X . :
._M_8_x_2_01- /.[\4_8_)(_4_5_- en am Gelander befestigt, wobei die verstellbaren FiiBe und L-Verbinder -“l'-

and then lock the bolt, and the installation is completed

Befestigung des Wechselrichters am Geldnder mit Edelstahlbindern

www.austasolar.net
marketing@osdasol.com
NINGBO AUSTA SOLAR TECH CO, LTD

i
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
I

entfernt werden. Driicken Sie die Platte mit Endklemmen direkt auf die | : . s
Fiihrungsschiene, wie in der Abbildung unten gezeigt. Der M8-Schraubenkopf |
i J wird in den Schlitz eingerastet und die Mutter wird verriegelt |
------ '

e /'.M !
L St I
p I
g I

I |
I
I

5 : r )
6) According to the required angle, adjust the position of the telescopic rod | B == | y |

| - | IS - |
: ! i
) ] i I
11 | |
. AN 1! 5 " - i
\ | I { | |
1 | I
| 5 | I
I
d I
I
I
I
I
I
I
I
I
I
I
I
I



